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Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version Authentic
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Give the Answer for the Following

Define Surveying.

Give the list of Instruments required for chain and tape survey with their
uses.

Write the R.F. of following Scale

Icm=2.5m, Icm = 1.5km

Explain F.B. and B.B.

If the declination of a survey line is 3°E and magnetic bearing is 160°.0°.0.
Find true bearing of survey line.

Explain F.S. and B.S.

State the types of B.M., Explain any one.

The following Consecutive readings were taken on a continuous rising
ground at 20m interval. The R.L. of first point was 150.00m, 3.850, 2.670,
2.250, 1.250, 0.800, 3.950, 2.800, 2.200, 1.350, 0.650, 3.655, 2.855, 1.550,
0.650, Prepare a page of level book, Calculate R.L. of all points by H.L
method. Apply usual check.
Explain temporary adjustments of dumpy level.
What are the uses of Contour map?

OR
Describe the Characteristics of Contours.

Differentiate between Map and Plan.
A Plan represents an area 8.5cm x 6.5cm on paper. The field area is
14143m”. Find out scale R.F.
Explain Indirect ranging with sketch
Explain the following terms
Base line, Check line, Tie line.

OR
State the basic Principles of surveying, Explain first Principle with sketch.
State the types of scale and explain the importance of graphical scale.
A 20m chain was found to be 10cm too long at the beginning and 30cm too
short at the end of survey work. If distance measured by this 20m chain is
930m. Calculate correct distance.
Explain the following terms
Well Conditional Triangle, Ill Conditional Triangle.

Draw neat sketch of prismatic compass and show its parts.
Convert following W.C.B. in to R.B.
230°.30°.0”, 23°.0°.30”, 140°.0°.0”, 330".30°.30".
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The following bearing was observed in running closed traverse. Correct the
bearing for local attraction. Find included angle of traverse.

Line F.B. B.B.
AB 108°.45° 289° 30
BC 1°.00° 181°.00°
CD 303%.15° 124° 30’
DA 226" 30° 44° 30
Explain local attraction in detail

OR
The Fore bearing of closed traverse ABCD are as under
Line F.B.
AB 40°
BC 80°
CD 220°
DA 260"

Calculate interior angles and apply usual check.

Explain the term ‘declination’.

Distinguish between Prismatic compass and Surveyor’s compass.
Convert following R.B. in to W.C.B.

N30°.30°.30"E, $40°.30°.00"E, S40°.30°.00”"W, N50°.30°.00"W,

Explain advantages and disadvantages of plain table survey.
List various accessories for plane table survey.
Explain procedure to measure Horizontal angle with repetition method by
using theodolite.
Explain the term transit and non-transit theodolite.

OR
Explain the term ‘Orientation of plane table’.
State methods of plane table survey. Explain any one.
Explain following terms in connection with theodolite.
Face Right Observation
Face Left Observation
Swinging
Transiting
Write down the uses of Theodolite.
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